Gelijknamige breuken groter dan 1 met elkaar ERSR

vermenigvuldigen

Breuken

Oefening 1 Oefening 2
4 2 4 1
1. 3— x 3— = 1. 4— x 4— =
5 5 5 5
4 2 1 1
23— x 1— = 2. 4— x 4— =
5 5 2 2
1 1 2 2
3. 4— x 2— = 32— x 1— =
3 3 4 4
4 1 3 1
4. 4— x 4— = 4. 3— x 3— =
5 5 4 4
3 4 2 2
53— x 1— = 54— x 2— =
5 5 3 3
Oefening 3 Oefening 4
1 1 2 1
1. 4— x 1— = 1. 2— x 1— =
3 3 4 4
2 2 3 2
2. 2— x 1— = 2. 2— x 2— =
4 4 4 4
3 3 1 4
32— x 1— = 32— x 1— =
4 4 5 5
3 1 4 4
4. 3— x 2— = 4. 3— x 1— =
4 4 5 5
2 3 1 3
53— x 1— = 5. 4— x 2— =
4 4 4 4
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Gelijknamige breuken groter dan 1 met elkaar *h &

vermenigvuldigen | ANTWOORDEN
Breuken

Oefening 1 Oefening 2
4 2 23 4 1 4
1. 3— x 3— = 12— 1. 4— x 4— = 20—
5 5 25 5 5 25
4 2 8 1 1 I
2. 3— x 1— = 5 — 2. 4— x 4— = 20—
5 5 25 2 2 4
1 1 | 2 2
3. 4— x 2— = 10— 32— x 1— = 38—
3 3 9 4 4 4
4 1 4 3 1 3
A 4— x 4— = 20— 43— x 3— = 12—
5 5 25 4 4 16
3 4 12 2 2
5 3— x 1— = 6 — 5, 44— x 22— = 12—
5 5 25 3 3 9
Oefening 3 Oefening 4
1 1 7 2 1 [
L 4— x 1— = 5— L 2— x 1— = 3—
3 3 9 4 4 8
2 2 3 3 2 7
2. 02— x 1— = 3— 2. 2— x 2— = 6—
4 4 4 4 4 8
3 3 I3 1 4 24
32— x 1— = 4— 3. 2— x 1— = 3—
4 4 16 5 5 25
3 1 7 4 4 2|
43— x 2— = 8— 43— x 1— = 6—
4 4 16 5 5 25
2 3 | 1 3 "
53— x 1— = 6— 54— x 2— = Il—
4 4 8 4 4 16
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